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13장 연습문제

1. 

(a)      
                           

(b)      


(c)                                  
(d)   sin    sin   cos   

3.

(a)    
                      

(b)     

(c)                            

(d)    


5. 

 ≠ 인 임의의 자연수 , 에 대하여 
 





cos 
⋅

sin 
   , 


 





cos 
⋅

cos 
   , 

 





sin 
⋅

sin 
  이다. 

또한 
 






⋅


   , 

 





sin 
⋅

sin 
   ,     


 





cos 
⋅

cos 
   (은 자연수)이다. 

따라서 

 

sin 
 

cos 
 

sin 
 

cos 
 

sin 
 

cos 
 ⋯ 는 정규직교

집합이다.

7. 
(a) 구간     에서  의 푸리에 급수는




  

  

∞




    cos   

  

∞

    
       sin 

이다.
(b) 구간     에서  의 푸리에 급수는

  


 

  

∞



 

cos   



  

∞


  

       


   sin 

이다.
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9. 

(a) 

 



  

∞


  


cos 

(b) 

 
  

∞


 


 cos 


        cos  


